Introduction to Logic (CS & MA) 2015

Answers Resit Exam of 26 November

1. (a) °(RvS)—=C
C': Miko will come.
R: It rains.
S: It snows.

(b) LA (D — —A)

L: Sam likes coffee.
D: Sam drinks coffee.
A: Sam is fully awake.

2. Translation key:
a: Amir  m(x): the mentor of x  K(x,y): x knows y
(a) —3z(z = m(m(z)))
(b) Va(m(m(z)) = a = 3y(K(z,y) A —3z(y = m(2))))
3. (a)

A|B|C| (A & B) < ((C < -A) « (B < Q)
T|T|T|T T T F T F F F T T T
TIT|/F|T T T F F T F F T F F
T|F|T|T F F F T F F T F F T
TIFIF|/T F F F F T F T F T F
FIT|T|F F T F T T T T T T T
FIT/IF|/F F T F F F T T T F F
FIF|T|F T F F T T T F F F T
FIF|F|F T F F F F T F F T F
12341 5 2 9 3 6 4 8 2 7 3

The numbers in the last row indicate the order in which the columns are computed. The
final column (numbered 9) only contains the value F, so the sentence is not satisfiable.

(b)

A/B|IC|(kA - B) N C & - (A N C) — B
T,%7TyTyF T T T T T F T T T T T
T|T|\FyF T T F F F T T F F T T
T/\F|T|VF T F T T T F T T T T F
TIF|IF| F T F FFTTTTFF FF
Fy7T)T}4 T T T T T TTF F T T T
FIT|IF| T T T FF FTFFF TT
FIF|IT| T F F FTTTTFF T F F
FIF|IF| T F F FF TTFFF FF
11213} 4 5 2 6 3 10 8 1 7 3 9 2

The numbers in the last row indicate the order in which the columns are computed.
The final column (numbered 10) does not only contain the value T, so the sentences
are not tautologically equivalent.
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1. Ixz(a=xz Az =Db)

3.c=a

4. [dla=drd=0b
TS.a:d

6. c=d

7.d=10

8.¢c=b

9.¢c=b

10. c=a—c=b
11. Ve(x =a — z =)

— Elim: 1, 4
1 Intro: 6, 2

1 Intro: 8, 3

V Elim: 5, 6-7, 8-9
- Intro: 4-10

— Intro: 3-11

— Intro: 2-12

Reit: 3

Reit: 4

< Intro: 4-5, 6-7
< Elim: 1, 8

— Intro: 3-9

— Intro: 2-10

A Elim: 4

= Elim: 3, 5
A Elim: 4

= Elim: 6, 7
d Elim: 1, 4-8
— Intro: 3-9
V Intro: 2-10



(d) | 1. =32(P(z) A =Q(x))
2@
T 3. P(a)
4 Q)
5. P(a) N —Q(a) A Intro: 3, 4
6. Jz(P(x) A =Q(x)) 3 Intro: 5
7. L 1 Intro: 6, 1
8. ==Q(a) - Intro: 4-7
9. Q(a) - Elim: 8
10. P(a) — Q(a) — Intro: 3-9
11. Vz(P(z) — Q(x)) V Intro: 2-10

5. (a) VxVy((Cube(x) A Cube(y) A SameRow(x,y)) = x =1y)

(b) The only objects x that satisfy Tet(x) are b and d. We claim that there are objects y
and z such that both SameCol(b,y) A SameRow(y, z) A Cube(z) and
SameCol(d,y) A SameRow(y, z) A Cube(z) hold. To show that, we take d for y, and e for
z. It is easily verified that SameCol(b,d), SameCol(d, d), SameRow(d, e) and Cube(e)
all hold. So the sentence is true.

(c) We shall make the sentence false by making the instance Yy(SameCol(d,y) — d =y) — Cube(d)
false. Since the conclusion Cube(d) is false, it suffices to make the premiss Vy(SameCol(d,y) — d =y)
true. This is realised by taking object b away, for then there are no two objects in the
same column.

Analogously, the sentence becomes false when we remove object d.

6. (a) M= R(z,2) A (Pla) VQ(O))[A]

& { definition of satisfaction for conjunction }
M [= R(z, 2)[h] and M [= P(a) v Q(b)[A]
& { definition of satisfaction for disjunction }
M [= R(z, z)[h] and (M |= P(a)[h] or M = Q(b)[h])
& { definition of satisfaction for atomic formulae }
([ =) € M(R) and ([al € M(P) or [ € M(Q))
& { interpretation of terms }

(h(z),h(2)) € M(R) and (M(a) € M(P) or WM(b) € M(Q))
& { definition of h and 9 }

(2,2) € {{0,0), (2,0), (2,1),(2,2)} and (0 € {0,2} or 1 € {1})
& { elementary set theory }

true and (true or true)
-~

true



(b) M EVa(R(c,z) — Qz))[h]
& { definition of satisfaction for universal quantification }
M E (R(c,z) — Q(x))[h[x/d]] for all d € {0,1,2}
We claim that this is false. To show this, it suffices to demonstrate that 9 =

(R(e,z) — Q(x))[h]x/d]] is false for some d € {0, 1,2}. We shall do this for d = 0. We
use k to abbreviate hlz/0], so k(z) = 0. Now

M= (R(e, x) = Q(x))[K]
= { definition of satisfaction for implication }
(not M = R(e,)[k]) or M = Q(x)) [k
& { definition of satisfaction for atomic formulae }
(not ([, [+I%) € M(R)) or [« € M(Q)
& { interpretation of terms }
(not (M(c), k(x)) € M(R)) or k(x) € M(Q)
& { definition of 9 and h }
(not (2,0) € {(0,0),(2,0),(2,1),(2,2)}) or 0 € {1}
& { elementary set theory }
(not true) or false
=

false

() M= IavyR(z,y)[h]

& { definition of satisfaction for exiatential quantification }
there is a d € {0, 1,2} such that M = YyR(x,y)[h[z/d]]
& { definition of satisfaction for universal quantification }

there is a d € {0, 1,2} such that for all e € {0,1,2} M = R(x,y)[h[x/d,y/e]]
& { definition of satisfaction for atomic sentences }

there is a d € {0, 1,2} such that for all e € {0, 1,2} <[[x]]?3[tr/d’y/e], [[y]]zj[tw/d’y/ep € M(R)
& { interpretation of terms }

there is a d € {0,1, 2} such that for all e € {0,1,2} (h[z/d,y/e](x),h[z/d,y/e](y)) € M(R)
=

there is a d € {0, 1,2} such that for all e € {0, 1,2} (d,e) € M(R)
This last statement is true, for we have (2,0), (2,1), (2,2) € {(0,0),(2,0),(2,1),(2,2)}.



~(A ¢ (BV-0))
(A= (BV-C)A(BV-C) = A4))
~((~AV BV =C) A (=(BV =C) V A))
~(~AV BV =C) V =(=(BV -C) V A)
(-—AAN-BA-=C)V (=-=(BV-C)A-A)
(AN=BAC)V ((BV~—C)A—A)

(AN-BAC)V (BA-A)V (-C A-A)

—(VzA(zr) — VYo3yVzB(x,y, 2))
& { rename z in the conclusion }
—(VzA(zr) = YwIyVzB(w,y, 2))

—(=VzA(z) VVwiyvzB(w, y, 2))

—=VzA(x) A -VwIyVzB(w,y, )
54

Ve A(z) A JwVy3dz—B(w,y, 2)
<~

VrIwVyIz(A(z) A =B(w,y, z))
Skolemize Jw:

VaVy3z(A(z) A -B(f(z),y, 2))
Skolemize Jz:

Vavy(A(x) A=B(f(z),y,9(2,y)))

(A A B = L) A (C AN A - D) A (E = C) A (A > E) A A
T F F T F T T T T 1T T T 1T T T T T T T T T
1 5 5 5 5 5 3 31 4 4 5 2 3 3 51 2 2 5 1

In step 1, we assign T to A, because it is a conjunct of the Horn sentence.

In step 2, we observe that the premiss of conjunct A — F is true, so we assign T to E.
In step 3, we observe that the premiss of conjunct £ — C is true, so we assign T to C.
In step 4, we observe that the premiss of conjunct (C'A A) — D is true, so we assign
T to D.

In step 5, we observe that no new premises have become true, so we assign F to the
remaining atom B. Now the Horn sentence evaluates to T.

We conclude that the Horn sentence is satisfiable.



1. Vz(P VvV Q(x))

T 2. =(PVVzQ(x))
3@
DL. PV Q(a) vV Elim: 1
5 P
6. PVVxQ(x) V Intro: 5
7. L 1 Intro: 6, 2
8. Q(a) 1 Elim: 7
9. Q(a)
10. Q(a) Reit: 9
11. Q(a) V Elim: 4, 5-8, 9-10
12. VzQ(x) V Intro: 3-11
13. PV VzQ(x) V Intro: 12
14. L 1 Intro: 13, 2
15. ==(P Vv VzQ(z)) - Intro: 2-14
16. PV VzQ(x) - Elim: 15



